Rhombus Measurements

ABCD is a because

i B
138° —
m<ADB = Why?
(Hint: What kind of triangle is AABD?)
P HEBEC S A
Why?
m«sBCD= __
Why?
F
EGFH is a rhombus.
FK=12m
KG=5m
FG=13m
Perimeter=__ because
H G
FE=__ because
E
JLNM is a rhombus.
ALNP is an equilateral triangle.
2705 r NPQR is a square.
Perimeter of heptagon JLPQRNM = __
d because
m<IMN=___ because
N P msMNL = because
msNP=_____ because
msZRNP =__ because
i msMNR = because
ANMR is scalene / isosceles / equilateral (circle
R 12 in. Q one) because

msNMR = because
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Mark the figures using your knowledge of parallelograms and triangles.

a3

C

147

6 cm

8 cm

D

ABCD is a parallelogram.

m«sD =_____ because

m<DAC =___ because
m<sCAB=__ because
m«BCA=___ because
CD=_____ _andBC=___ _ because

PQRS is a parallelogram. lts diagonals intersect
at 7. QT =4.1 cm. PR=5.6 cm.
Use the given measurements to find the

following:

mAPQR = (Hint: Look at APQR.)
msRQT = because

msRTQ = (Hint: Look at ARTQ.)
m«STP = because

mZLQTP = because

m-sRSQ = because

QS = because

PT = because




